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QUESTION 1

What is the process to add hosts to an existing cluster? (Select two.) 

A. Restart spread on all hosts in the cluster. 

B. Recreate all projections on the new hosts. 

C. Update spread.conf on the new host(s) only. 

D. Install Vertica on the new hosts. 

E. Redistribute data to the new host(s). 

Correct Answer: AE 

 

QUESTION 2

Which task consolidates data containers, sorting, compressing, and purging data as needed? 

A. mergesync 

B. movesync 

C. mergeout 

D. moveout 

Correct Answer: C 

Reference:https://my.vertica.com/docs/6.1.x/HTML/index.htm#2624.htm#o14826 

 

QUESTION 3

What are the advantages of a group by pipe versus a group by hash? (Select two.) 

A. A group by pipe uses memory more efficiently. 

B. A group by pipe can be processed spill to disk if the join result is large. 

C. A group by pipe is at least as fast as a group by hash. 

D. A group by pipe requires no optimization. 

E. A group by pipe builds its entire output table in memory. 

Correct Answer: AE 

 

QUESTION 4
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What is a Vertica cluster? 

A. a collection of projection files 

B. a grouping of several Vertica databases 

C. the set of nodes running one instance of Vertica 

D. a physical machine configured to run an instance of Vertica 

Correct Answer: B 

 

QUESTION 5

What are the benefits of loading data directly into ROS? (Select three.) 

A. The data is written to all projections on the source tables. 

B. The data is sorted. 

C. The data is unsorted. 

D. The data is stored in only the super projection, which then populates other projections on the table in the
background. 

E. The data is in column format. The data is written in row format. 

Correct Answer: ABD 

HP2-N36 PDF Dumps HP2-N36 Exam Questions HP2-N36 Braindumps

Powered by TCPDF (www.tcpdf.org)

HP2-N36 PDF Dumps | HP2-N36 Exam Questions | HP2-N36 Braindumps                                3 / 3

https://www.leads4pass.com/hp2-n36.html
https://www.leads4pass.com/hp2-n36.html
https://www.leads4pass.com/hp2-n36.html
http://www.tcpdf.org
https://www.leads4pass.com/hp2-n36.html
https://www.leads4pass.com/hp2-n36.html
https://www.leads4pass.com/hp2-n36.html

